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Paper 1
gyufEeRT 1

Time Allowed : 75 Minutes] [Maximum Marks : 100
Note : (1) This Paper contains Sixty (680) multiple choice questions, each question
carrying Two (2) marks.
{2) Attempt any Fifty (50) questions,
TqE : (1) W wyaiEa e (60) wpfiEe ww R sen e wee e g (2)
TR
(2) U 9=E (50) g 6l fem

1. Application of course-content in | 1. TEARAWIA AFEE ==y AR

day-to-day life is mainly achieved TOAIST WIETATATE] HATEE U
though: 0209000000 | 0 Tvmmemmmm ATE.
{A}) Demonstration method (A) el oza
(B} Project method (B} T%79 9Ea
(C) Field visit (C) &9 92 958
(T Inquiry method () T=3 954

2. In order to monitor students’ | 2. Tamei=n ww= 2wia s =
progress and to modify teaching YT AR wEE HITEE
accordingly, the best method of # e T Wi,

evaluation 18
{A) formative evaluation

(B} summative evaluation

{C) qualitative evaluation (C) TR

(D) objective-based evaluation (I Se=rafm grmre
3 [P.T.O.




The guestion, *How would you
prove that the earth is round or
not round 7?7 is based on the ...........

ohjective,

(A} Comprehension
(B} Evaluation
(C) Application
(I Synthesis

Which of the following iz not essen-
tial for good teaching 7

{A) Human-relations skills
(B} Communication skills
{C) Attractive personality

D) Knowledge of appropriate
teaching methods

The most important purpose of

‘mnidance’ of students is to :

{A) help them to understand their
own shortcomings

{B) help them to change their
faulty behaviour

{C) make them capable of helping
themselves

(I} direct them about the right
path

MAY - 00116/1—A

“gult et e fRan R & 99 W fag
m '__}H m m .......................... _q.T
et anaf| k.

(A) #THRTH
(B) TEeEH
(C) F9drET
(D) Hyermm

EMHIATET FHITHET MR WIMED
FEATTHIE AEYTE AR 7

(A) " Hau-faars ey
(B) Hiwm wreed

(C) e =fFm=

(D) 7)1 Ygdd 74

(A) A= FHAE T S S
HEE I

(B) 79 S 67 auevars = e
Ll

(C) =T A WEd HITETE Har
R

(D) ™A 909 OeTEEd e




The best method of increasing the
maotivation to learn is

{A) punishing inattention during

learning

(B} asking difficult questions while
teaching

{C) explaining, in the beginning,
the purpose of teaching a unit

(D) using a variety of audio-visual
aids

A research problem iz primarily

chozen depending upon

{A) its relevance

(B} available funds

{C) interest of the researcher

(D) availabhility of literature

Which of the following is a primary
source of information ?

(A) A research review
{B) A recently written text-book

{C) A research article published in

a standard journal

(D) A multi-author treatise pub-
lished in the year 2015

7.

B.
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(D) fafaw g=-wr=y My &
Exa|

A 2T

(A) =r=n gadEaeT

(B) 3o A

(C) HYSEFT= AEEE

(D) TR AT

T d® Fgen Aifedial Ha &\

e ?

(A) HISATE TUTErEE ATeErE

(B) To fofess meg-1e

(Cy warm framsfada ofas e
Ty T

(D) @7 S fafesen 5 2015 9
wfog =meen Uy

[Fqu.ﬂq.



10,

11,

A research report showed that the
population of a country increased
from 20 million in 1941 AD. to 60
millien in 2000 A.D. The study can
best be described a8 ........cooiienien .

{A} Factorial

(B) Social

{C) Longitudinal
(D) Cross-sectional

A hypothesis is not always necessary

) o SOV . - o1« | -1 ¥
{A}) normative

(B) correlational

{C) experimental

(D} historical

Which of the following sampling
methods is based on probability 7

{A) Judgement sampling
(B} Stratified sampling
{C) Quota sampling

(I} Convenience sampling

9.

10.

11.

MAY - 00116/1—A
T HANTT FEATAAN, T S9me
FRGE 1941 TG &H =l 2hl, a9
2000 WE T OFE R Wl A@
Hm m m rrrraerrrrrreserrrrreaeet

ar .
(A) HZHY
(B) G
(C) Eree
(D) TW-wiEm

(B) HEaEymaS
(C) wammraiT=E
(D) Ufeefas

e T s weHtiE For 1sa
"HuERE aafm e ?

(A) FreamaifE =g fae
(B) =™ T e
(C) v W fere
(D) grg 797 ez
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12. Field study is concerned with : 12, 319 AN W Eaw] R e

(A) real life situations

(B} doing laboratory studies in the

outdoors
(C) experimental approach
(I} collecting =elective data

Answer guestion Nos. 13 to 18
based on either the English

passage or the Marathi passage :

When a person claims to be non-
violent, he is expected not to be
angry with one who has injured him.
He will not wish him harm; he will
wish him well; he will not swear at
him; he will not cause him any
physical hurt. He will put up with
all the injury to which he is sub-
jected by the wrong-deer, Thus non-
violence is complete innocence,
Complete non-violence is complete
absence of ill-will against all that

lives. It therefore embraces even sub-

T =m 7

(A) weay e

(B) wirTITERTE Wiy AR derE
e

(C) W gfese

(D) frees wfedt Smem

WA W 13 7 18 ¥ g2 fiew s
srefia smew. §USde fwar
ST FATaTat e gt I
- |

nisfroft wfgraimde T smrE w.
femit 3w foem eard, wa e
TETE e e SR
e #fen FErE snfin fnsporsft
o A A 8F CwEEE | AR gerd
Tersgor =i HWIOH ® A W
fogiss A ;e Feen EREe
e A qewen aiEed fe
TR FE G, T few
T wEEE. M ¥ ofed e

[Fqu.Dq.



human life, not excluding noxious
insects or beasts. They have not been
created to feed our destructive pro-
pensities, If we only knew the mind
of the Creator, we should find their
proper place in His creation. Non-
violence is therefore in its active form
goodwill towards all life. It is pure
Love.

Non-violence 15 a perfect state. It is
a goal towards which all mankind
moves naturally though uncon-
seiously., Man does not become
divine when he personifies inno-
cenee in himself, Only then does he
become truly man. In our present
state, we are partly men and partly
beasts and in our ignorance and
even arrogance sayv that we truly
fulfil the purpose of our species,
when we deliver blow for blow and
develop the measure of anger

required for the purpose.

MAY - 00116/1—A
HEA W, FH UF FEAAE TEAE
Foremen Adm. widisiten F=nfis 9 o
= ¥ wEe e, ov Freed s
AT Y. FEEE g T
FAFHAY B HA AVEA T A
Tz anfn s Al gt S
e wwA fael 3 FwE mEEdEm
WA AR 4 IHIYh wiETE
wrfreen midt arafas @9 s
FITEE FEEE (equality) #ETE
I AE WA AEE, T A A
THANE (identical) T TEA. TIH
= fee At few wTE A
TERAe R R T4 A T
B ke e M i O e o A =
Temm = feTE WE WA
T YR W gEl W T
= R T R e A e R
WEsh™ el @ U WEE ¥aerge




13.

14

15.

A truly non-violent person would

not even :

{A) take revenge upon his enemy
(B} have ill will for his enemy
{C) cause his enemy some injury
(I} destroy his enemy

The idea of non-violence concerns :
(A} progressive socielies

(B} insects and animalg

(C) God

(I all forms of life

Which of the following statements

is true ?

{A) Complete non-violence is the

absence of will power

(B} Non-violence is pure love for all

whom we know

{C) All living beings have their

proper place in the universe

(I} A non-violent person is always

passive

13.

14,

15.
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T T T AT i,

Encu i
(A) To=n fasmlt 5@
(B) Taem =rddm

(C) T=gm 3om fosmret smavad
e

(D) Foi1 s T R A
e firer snfin =i & i e
(A) foen smrt smavawmS A

(B) T serime sifvss i s

() Toen fogoma ain R

D Wt e wrds o

R 1 e e A e e
YA FETEE FwEN EOE
(A) meretE i

(B) wisirsit=t afEeTeim gfas

(C) = #=fes gfewm

(D) mgrEn T2ee fomEe mee

[Fqu-ﬂq-



16. At present, man is partly ......ccoceeieees

in his behaviour and attitude.

(A} beastly
(B) divine
{(C) cowardly
(I} ignorant
17. Non-vielence is pure :
(A) Perfeetion
{(B) Love
(C) Generosity

(D} Consciousness

18, The most appropriate title for the

passage i8 |

{A) The advantages of non-violence

(B} It is really possible to be non-

viclent

(C) Non-violenee as a politieal

ideology

(I} The spirit of non-violence

16.

17.

18.

MAY - 00116/1—A
meftei TEHeEd Wt & o
arEfa.

(A) TaTd T, Fa0d =dE

(B) TEH W, Tnd 1%

(C) Hqof faum ==

(D) e fasme =iE

Tt Siraam oftestErh e o, iy
T e S e T
HETATT AT

(A) Hyol faum o=

(By syt faum aden

(Cy yEr e, wod T

(D) qate 5%, I =

q FIA=TEET ATaw wEdw wiHw
£

(A) TE=g HERAD

(B) o= S

(C) HHITET HHES
(D) TrgEs fEwem

10



19. In the context of face to face

interpersonal communication which
of the following is an incorrect

statement 7

{A) Verbal signs or signals are
more in terms of quantum and

variely

{B) Non-verbal signs or signals are
difficult to control

{C) In case of confusion over
meaning, verbal signs are

trusted less

{I}} Non-verbal signs or signals are

mostly involuntary

In which of the following tvpes of
communication the potential for
getting quick, significant and

reliable feedback is maximum 7
(A) Mass Communication

(B} Group Communication

{C) Interpersonal Communication

(I} Inter-group Communication

19.

20,

MAY - 00116/1—A

T SHEETE GHREE T HaTeE

vl e S s gEeE

e ?

(A) w=ey fa= =1 g gam =
gy = A

(B) Frame fa = g g 2ad
FETE A

(C) e areife e foaion e
ey fasmn w097 fawam S8
AT

(D) Froame fomt w1 gom age s
ayEa

HETETEATET FIE S TR ETEE,

wagoitg anfn favaros wims a=nm

Toerrel som wEiaes A

(A) FH HarA

(B) T2 HAMTA

(C) TH =Eaaye 9aE (9aE )

(D) =F TEEEE g9a3r

[Fqu-Dq-



21,

22,

Identify the inecorrect pair of media
and its performance indicator from
the following ;

(A} Newspapers — Circulation
(B} Cinema — Box Office

{C) Television — TVT

(D) Radioc — ROD

In the context of FM Radio the
abbreviation FM stands for :

(A} Frequency Manipulation
(B} Frequency Modulation
(C) Fidelity Modifier

(I} Fidelity Modulation

The sitting arrangement in a
typical classroom in which students
face the teacher, encourages a
communication which :

{A) facilitates easy interaction

among students

(B} give more communicative power

to teacher for control

(C) give equal communicative

power to teacher and students

() facilitates a multidirectional

conversation

21,

22,

23,
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WHTHSEY § FrATddaie wre] S
Tadern o= metert] S @E g
e ?

(A) goTd — famm (e

(B) Tz — = #fRd

(C) Zafamami — J=id

(D) IWEs — FAAHE

TR ifzsren #@egia ‘uwen' =@

e faEmn w7

(A T A egEyE

(B) Tirma=it oiegeee

(C) wEEfEd Hifrwr

(D) wrEEfE gfzgae

TF HEAHEAT e e e

ATE WS SETE S, S T

Yo% TR WO WS WA

WA e ?

(A) et it e S
H =@ R

(B) fremsin wargs wfwden fraam
EEke Gl B e e |

(C) forers 1 fammet dar=mmEy ooF
i foeam

(D) =Efew Fymomen = T

12



24,

25.

For a teacher what is the easiest
and guickest location of getting the
students’ feedback in a classroom

situation 7
{A) Body language of students
(B} Questions asked by students

{C) The quality of class notes taken
by them

(I} Assignment submitted by them

on the topic

For the sequence, 1/2, 2/3, 34, ......
which of the following

nin + 1, ......

15 not true ?
{A) The sequence is strietly increa-
sing

(B} The sequence is bounded above
by 0.99

{C) The sequence is bounded below
and bounded above

(D) The sequence contains no

number between 3/4 and 45

24,

25,

MAY - 00116/1—A

TEEA TIawTE g "M
Torepfamren Heafa ufeamr = gy
e B = e e B = 2
FoH 7

(A) Teremeafst S
(B) Toemeai=y faamee 991
(C) Taemefst Serem SR ==l

(D) Taemefst orEr S9W sy

172, 2/3, 3M4, ..... nm o+ 1, ... W
TGS WS S s we
TR ?

(A) B HEAHE FEY: AR AT
e

(B) ¥ TEHERE WS TR 0,99
T HE AT

(C) o HeEnhedrs T Heien
FEF AT U S W g
TEE HEEn A0S Aot T
HE A

(D) o HEITHTEEE RIEE e
34 3 4/5 BE AEL

13

[Fqu-ﬂq-



26,

27.

Which of the following is not a
linguistie skill 7

{A) Speaking
{B) Reading
{C) Thinking
(D) Writing

Suppose that X is a set of some
real numbers. From which of the
following statements does not

deduce the other statements 7

{A) Between any two numbers in
X, there is at least one number

n X.

(B} Between any two numbers in X,
there are at least two numbers

in X

{(C) Between any two numbers in
X, there are infinitely many

numbers in X,

(D} If X contains at least two num-
bers then X contains infinitely

many numbers,

26,

27.

MAY - 00116/1—A
WIAETTHR] FI0E WTHETTF 19

i ?

(A) TFgE

(B) T F0

(C) fa=m o

(D) &

HHA X T IR AR S HE AR

WTEATHATHR] HRITed fagHEET At

TaarmE fagm oo 49 A 7

(Ay X = HEEte wivearE g1
T, U 2 X B AT

(B) X = wwEta wivears 719
HEgmel, X mdtE FEeEs 56
e e o

(C) X = waEts wivearst g
e, X oadfte sdn dem
ST

(D) X W T9W FAEEd §6 HE

14
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28. There are 7 persons in a party. The | 98 ws udfa 7 ==t 2ma. = WS
number of hands shaken all together TERETES TET =T B
in the party counted with multipli- T (AHEATHE W) e
city, cannot be : TR g v A 7
{A) B (A} B
(B) 6 (B) 6
(C) 10 (€) 10
Dy 2 m 2
29. If two distinet circles in a plane are | og  gaemdE =19 43 UFERT 9E
intersecting each other, then they P
intersect in
(A) TFS BT fag o
{A) exactly one point
(B) infinitely many points (B) ¥rd BaT fag
(C) at the most two points (C) wmfts = A 3 g s
(D) exactly two points (D) A = SF9 B fag 1w
30. If the word PRINCE is coded a= | 30. U®! w=®fa® wrda PRINCE =
1517581324 in a code language, then T Had 151781324 300 3. 9
what should be the code for the word " aiEE KING o YrET Sehars
KING in the same language ? Y AEE 7
{A) 1081386 {A) 108136
(B) 1191356 (B) 119136
(C) 109145 (C) 109145
() 118146 (D) 118146
15 [P.T.O.
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31. Based on the following statements 31, Y& faamEien anui =i

which of the conclusion/s given

woE(R) fresd wwa 9w 2

below will follow/s ?

Statement 1 : All the bowlers of faur= 1 ;o Ges o s

my team are .
fahz Sumy e
wicket takers.

faam= 11

=+

Statement Il : Varun iz not a g g fawz =twmu

wicket taking T ey
howler,
frepd 1 ¢ wEm fRrEd TieEE e

Conelusion 1 : Varun is a spin

bovwler. faed 2 :  =TF O HEEE TEEE
Conelusion 2 : Varun iz not a =

bowler of my

team, (A) TR 1
() Only 1 {B) w4 2
(B} Only 2

(C) 19 2 3181

{(C) Both 1 and 2
(D) Neither 1 nor 2 (D) 19 2 3r=EE A6

16



32. Based on the following statements,

which of the conclusion/s will

follow's ?

All

mangoes,

Statement 1 : apples are

Statement Il : All mangoes are

bananas.

Conelusion 1 : All apples are

bananas.

Coneclusion 2 :Some bananas

Are mMangoes.
{A) Only 1

(B) Only 2

{(C) Both 1 and 2

(D) Neither 1 nor 2

MAY - 00116/1—A

32, 4EE fagi=AT wETl EEierd

T () Frend wwm dom 2
faam 1 ¢ @d wFEs " amed.
faar 11 : &9 @@ % A
frepd 1 ¢+ T9 OFEE A AR

frerd 2 : @ Hol WA AT

L1

{A) The 1

(B) "1 2

(C) 19 2 3=

(D) 19 2 S Tm

33. If the word FROG is coded as | 33. UH T#fw wim =@ FROG ¥ 1=
719168, then what should be the 719168 2w fofgen, T wr= wriE TRIP
code for TRIP 7 2 I = o e e
{A) 21181016 {A) 21181018
(B) 21191017 (B) 21191017
(C)y 2019917 (C)y 2019917
(D) 2119916 (D) 2119916

17 [PT.0.



34,

536,

Which one is the odd-one out from
the following ?

(A} FEG
(B) TsSU
(C) NML
(h RS

Five players, P, Q, R, 8 and T are
playing cards on a table facing the
center. P is on the left of @ but not
a neighbour of T. S is on the right
of R and is not a neighbour of Q.
T is on the right of @ Whe is on
the right of 3 7

(A) R
(B) P
C) T
m Q

Which of the alternatives will com-
plete the following letter series 7

EGF, TKJ,
(A} MON
(B) LNM
(C) NPO
(I MNO

34,

35,

36,

MAY - 00116/1—A
e 7
{A) FEG
(B) TsSU
{C) NML
(D) RGS
T @@y, P, Q R, 8 & T wH
ZEAIEE T W Aed. PR QN
ETE WIEH WHE A8, T A T = I
R S 7 R I Araen S5 A
Al Q=1 FEE AEL T ¥ See
A T . T S T "4
T ;e ?
(A) R

(B P
C) T
D) Q

wrEtETE wrom vaiy fede s df
o HIEW 7

EGF, IKd, ............. @SR, UWV.,
(A) MON
(B) LNM
(C) NPO
(D) MNO

18



Use the following table to
answer guestions 37 to 40 :

Diistribution of students at graduate
and post-graduate levels in seven

institutes :

Institute Graduate Post-Graduate

M 17% 8%
N 12% 15%
0 12% 12%
P 13% 13%
(4] 18% 14%
R 14% 21%
S 15% 17%
Total
Number of
Students 27,300 24,700

a7. Total number of students studying
al post-graduate level in institutes
N and O is :

(A) 5601
(B) 5944
(C) 6669
(I 7004

MAY -

00116/1—A

WY . 37 7 40 \E WS TErar

AT AT
| HruinyiE et anfm wEEE
fommenfe famo .
T LESl LECul
M 17% 8%
N 12% 15%
0 12% 12%
P 13% 13%
Q 18% 14%
R 14% 21%
8 15% 17%
LEURERIR]
A 27,300 24,700
37. N afm O = Hrargsd ugegw faenetsh

Y en fEft s 7
{A) 5601
(B) 5944
(C) 6669

Dy 7004

19

[P.T.0.



a8,

39,

400,

What is the total number of

graduate and post-graduate

students in institute @ 7
(A) 8320
(B) 7916
(C) 9116
(D) 8372

What is the ratio between the
number of students studving at
post-graduate and graduate levels

respectively from institute R 7
(A) 14 : 19
(B) 19 : 21
(C) 17 : 21
D) 19 : 14

What is the ratio between the
number of students studyving at post-
graduate level from institute R and
the number of students studying at
graduate level from institute P ?

{A) 13 : 19
(B) 21: 13
(C) 13 : 8
(D) 19 : 13

38,

49,

40,
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Q T GEEmdE TEEr i Teerm
Teremenfel ww wWeen fwedt s ?
(A) 8320
(B) 7916
(C) 9116
D) 8372
R =1 HeEE wesgen fawned anfon
Tedl famndi gren d@w=E Ui
e ?
(A) 14 : 19
(B) 19 : 21
(C) 17 : 21

(D) 19 : 14

R 9 GuidE wgepw faenei snim p
o wededtE e femef oren Hemi-
e i w7
(A) 13 : 18

(B) 21 : 13

(C) 13 : 8

Dy 19 : 13




41,

Use the following table to

answer questions 41 and 42 :

Distribution of areas under various

food crops.

Food Crop Percentage
of Area

Rice 20%
Wheat 20%
Barley 108
Jowar 5%
Bajra %
Maize 12.6%
Others 27.5%

If the total area under jowar is 1.5
million acres, what is the area under

rice ?

(A) 6 million acres
(B) 7.5 million acres
(C) 9 million acres

(D} 4.5 million acres

41.

MAY - 00116/1—A

uUyH . 41 20T 42 WIS WTEE
e FUAT AT

=G

T STt Tkt
Alges 20%

™ 20%

A 10%

T 5%

== 5%

T 12.5%

£ 27.5%

AT g W 15 TY TR a0
T g e &9 el wie 7

{A) 60 T8 THT
(B) T WY WHT
(C) 90 ¥4 T

(D) 45 ¥4 THT
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43,

If the production of wheat is & times
that of barley, what is the ratio

between the vield per acre of wheat

and barley 7
(A) 3: 2
(B) 3:1
(C) 12 : 1
D) 2:3

Which of the following is the
correct chronology of internet based
facilities 7

(A} Google, Hotmail, Facebook,

Whatsapp

(B} Facebook, Google, Hotmail,

Whatsapp

{C) Hotmail, Google, Facebook,

Whatsapp

(D} Hotmail, Facebook, Google,
Whatsapp

432,

43,

MAY - 00116/1—A

TETd IR G SR HEuE
AW, T Mg 2 = arem wi e
TOEAMREE Ui W i 2

(A) 3:2
(B) 3:1
C) 12 :1

Dy 2 :3

IR AMTE wTEE e 9a

HIEFH HIE 7

(A) TPTE, ElEEE, BEaE, =lHel

(B) HE®, T, Blhw, =iagaly

(C) THe, T, hEEE, =l

(D) #els, hegE, e, wlegan
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46,

Identily the odd element from the
following on the basis of its basic

function :

Windows, Android, MS-Office, Linux,

Unix

(A} MS-Office
(B} Windows
(C) Linux
(D Unix

What is the full form of PDF in the

context of computer file system ?
(A} Personalised Data Format
(B} Pixel Digital File

(C) Pictured Data Format

(D} Portable Document File

Which of the [ollowing is a ‘cloud
computing’ based data storage
facility ?

{A) Play store

{B) G-mail storage

{(C) Drop box

(I Cloud stick

44,

45.

46,

MAY - 00116/1—A
‘g wE' W fawwren e At
TR A WHUN CUEE e
Windows, Android, MS-Office, Linux,
Unix
(A) ToTE SRR
(B) TEm
(C) fars

() g
HWFE wEEE dedia PDF @

(A) ™ FEE

(B) #i-Tm ey
(C) =M Alam

D) F=EE =E
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48,

Which of the following is the correct
statements in the context of web 2.0

facilities ?

{A) Communication on these facili-

ties i8 mostly one-way

(B} Content on these facilities is

generated mostly by users

{(C) These facilities are much more

cheaper to establish

(D) These facilities use more ad-

vanced distribution technologies

Identify the correct pair from the

following ;
{A) Ubantu — Operating System

(B} Excel — Word Processing Soft-

ware
(C) AVI — File Transfer Protocol

(I} HDD — Cloud Storage Facility

47,

48,
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‘Fm 20" ffagien TEdin EwEiETE
o faum = oam 2
(A) I gfauEiE S JEr Uhan
Een|

(B) @1 Fiawiats AeE qE5av
AR TR Fere T

(C) = Hia= FEH ¥ FHE HE b
WE A

(D) = giasn wfers wm fEm d=59m
LT

T g W i

(A) 82 (Ubantu) — #HMfem faedm

(B) T (Excel) — =% wrfmm
Hiod T

(C) TEIAE (AVI) — TR I
BEiE A

(I THEMEN (HDD) — F&HE Aeais
Hfa
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50,

5l

A part of the large quantity of fly
ash produced in a thermal power
plant is used for :

(A) Boil conditioner
(B} Making bricks
{(C) Road making
(I} Burning

World Environment Day is

celebrated every vear on ............... ,
(A} 5th July

(B} 5th June

{(C) 2b6th January

(I 5th December

Which of the following Acts gives
rights to citizens to file cases against

violation of environmental norms 7
(A} Environment {Protection) Act
(B} Air Pollution Act

{C) Water Pollution Act

(D} Forest Act

49,

5.
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1 T o1 M 1 = O O |
TN Fie] WHE IO SRS e
M :

(A) i

(B) fae wam sormEE
(C) & fFEi v
(D) 359 =

| o £ e O T = O e G R
Weddh dHl T wen A 2

(A) 5 A

(B) 65 A
(C) 25 =AM

Dy 5 f=d=
TS FIOE FTIEEE AR
A v Afewn e e 7
(A) THETT HIEO HE

(B) ¥ WgWU THEE

(C) ¥ TEET FTE

(D) 59 HaE w1
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b3,

o4,

Which of the following gases
15 largely responsible for global

warming 7

(A} Sulphur dioxide
(B} Carbon dioxide
{C) Chlorine

(D) Ammonia

Which one of the following in not

non-conventional energy source 7
(A} Solar

(B} Tidal

(C) Geothermal

(D} Coal

Which of the following is the top

carnivorous animal ?
{A) Bird

(B} Snake

{C) Buffalo

(D) Tiger

52.

bd.

54.
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Er e e e G W | GE et
ARE FARAFREA FOUIGA AR 7
(A) TR EEsTFEe
(B) ®E SHAFTES
(C) FEHA
(D) e
AT R - S -E
AE ¢
(A) HR
(B) wHlt-=edt
(C) qaifoms
(D) =R

HEEATER] S W FEE WEY8E
ame ?

{A) T8
(B) A
(C) =W

{Dy |m™
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55. Which one of the following e-reposi- | 55. WA fa=rdfEmms  fo=mEmEs]
tory is for doctoral research of THTEATERD] W edhl 0 3-9i=n
Indian Universities 7 e ?

(A) Dnyanganga (A} FTET
(B) Shodhaganga (B} S
{C) Bookganga (C) F=Tm
(D) INFLIBNET (D) A=

56, Which one of the following agency | 56, WEIETHT FIMA] TR Fedia18OH T
15 to formulate policies of higher s ffeedt w03 2
education 7 )

(A) TTEl
(A) UGC

(B) THT=ZTE
(B} MHRED
(C) NCERT R
(D) NAAC (D) =

57. Which one of the following is | 57. AW I=AyIqu=a Heaiw-rdl o
responsible for assessment and sfafersdrsl =amerl aneeitst
accreditation of higher education FE R ?
mstitutions in India ? l

(A) ﬂiﬁ'{'ﬂ
(A UGC
By 7=
(B) NAAC
(C) NCTE (©) e
(D) AICTE (D) wsrEies
27 [P.T.0O.
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Ag per UGC 10-point prading
ayastem for CBCS, the letter grade

“A™ means :
(A} Outstanding
(B} Very Good
{C) Excellent
(D} Good

A unit by which the course work is

measured
(A} Credit
(B} Grade
(C} Grade Point
(I Credit Point

Which was the first open university
in India ?
{A) Dr. B.R. Ambedkar Open Umn-

versity

(B} Yashwantrao Chavan

Maharashtra Open University

{C) Indira Gandhi National Open

University

(I} Netaji Subhash Open University

58,

549,

MAY - 00116/1—A
qatdtem  TE-fag  H@i.E.H T,
TEARLE, Ui A" mUE
(A) IEF2
(B) #faem =
(C) 3w
(D) AP

Teheh 1 o TOMUERATY OTO9 RAd
a

(A) o
(B) #mir

(C) Sft fag
(D) o fag

YA Higel Haa faards wmom 2
(A) EL e wEEw g e

(B) JYTEAIE WM HEWRIRE HE

faramdta
(C) 3fen nid v g e

(D) st gvm HEa faemds
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